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Zte sin cos tan

10° 0.1736 0.9848 0.1763
20° 0.3420 0.9397 0.3640
35° 0.5736 0,8192 0.7002
45° 0,7071 0,7071 1,0000

D 0.6225 @ 0.8112 ® 0.8264

@ 0.8437 ® 1.1736
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Zie sin cos tan
10° 0.1736 0.9848 0.17638
20° 0.3420 0,9397 0.3640
35° 0.5736 0,8192 0.7002
45° 0.7071 0.7071 1.0000
50° 0.7660 0.6428 1.1918
70° 0.9397 0,3420 2.7475
89° 0,9998 0,0175 57.2900
=
27]
(D sin20° = 0.9848 © cos45° =0.7071
© tanb0° = 0.6428 ® 2sin10° = 0.3420
1
@ 500570":0.8192 ® 3tan45°=3
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@D sin50° = CD
@ cos40° = CD
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@ cos50° = OD
® sin40° = OD

® tan50° = CD



@ sin50° = CD © cos50° = OD
® tan50° = CD ® cos40° = CD

@ sin40° = OD
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o tiste] /DAB = x, £/ADB =y, /DEC = z
y
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@ siny =sinz @ cosy = cosz

@ tanx =tanz @ cosz=BD

® tanx = CE
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@ tan A

=BC

@ sinA

=AB

@ sinC

= DE

® cosA
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O 6.82

T sin @ cos T tan =
43° 0.6820 0.7314 0.9325
44° 0.6947 0.7193 0.9657
45° 0.7071 0.7071 1.0000
46° 0.7193 0.6947 1.0355
47° 0.7314 0.6821 1.0724
@ 6947 © 7071 @ 7.193

® 7.314
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of tfste] /DAB = x, /ZADB =y, /DEC = z
y
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@ siny =sinz @ tany = tanz

® tanx = CE @ cosz=sinx

® cosz=1
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sin A = 5 Q1 21724 ABC ©of| 4] cos A B

, tan A O] k& Z42F oY (B 0°< A <

90° )

@ COSAZ?, tanA =1 @ cosA = g, tan A = 2

® cosA =243, tanA =1 @ cosA =33, tanA:%
2

® cosA = 7\/_, tanA =1
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15. o3 F cosA & gho] &2 42| =7

@ sinA @ sinB @ cosB @ tanA ® tanB



16. t©h2 139 AABC oA 2C =90° ¥ W, sinA + cos A 2] 32 -5}
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@ smA:E,cosA:f,tanA:f
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=
sin A o] gt &2 729

@ cosA @ tan A

@ sinC @ cosC
® tanC



2 B3 the 49 ghe Fatofet.

2t | sin ‘ cos ’ tan

25° 10,42 0,90/ 0,46
50° 10,76 0,63 1,19
70° 10.930.34 2,74

cos 50° + cos 25° x sin 50° — tan 25°




21. o2 4729 EE H 11 sin 70° + cos 50° X sin 25° 4+ tan 70° 9] ZF2
b7

pAdey sin cos tan
25° 0.42 0.90 0.46
50° 0.76 0.64 1.19
70° 0.93 0.34 2.74
® 3.9188 @ 3.9288 ® 3.9388

@ 3.9488 ® 3.9588



22. o J™-NA € = 90° ¥ o, sinA + C
cos A 9] 415 ot}

D L
2%



23. o2 2™ofA «C = 90° Y ),

sin A + cos A 2] gt&9 AN
17 21 23 Tl
23 17
v S N 283 ? s T
@ ®



24.
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